2008
Tie Breaker 1
1.
Q.
What is the term for an inflammation of the periosteum on the 


anterior surface of the fetlock?


A.
Osselets 


S.
Evans p. 161, Lewis p. 398



810/2
2.
Q.   
What is the term for a mechanical device that leads horses in a 


circle at a slow walk in order to exercise them or cool them 


after workouts?


A.
Hot walker


S.   
Evans p. 84, DET p. 144



920/2
3.
Q.
What breed of horse was developed in Northern Holland as a 
war horse, has a distinctive flowing trot, no white markings and 
is described as a black horse with feathering on the legs?

A.
Friesian


S.
DET p. 115





200/4
4.
Q.
What would be the total number of bones found in the horse’s 
two carpal joints?  

A.
14 or 16 (accept either 14 or 16, not 15)


S.
Kainer plate 11




410/3

5.
Q.
You are evaluating a 5 year old gelding for purchase and note 

that the left testicle is slightly larger than the right testicle. Is 
this a concern?


A.
Yes – a gelding should have no testicles. If this was a stallion it 
would be within normal variation. 

S.
Kainer plate 74
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2008 Tie Breaker 2

1.
Q.
Fertilization can increase the quality and quantity of forage 


obtained from the pasture. In order to know how much and 


what type of fertilizer should be applied, what should you test 


every three to five years?


A.
Soil 

S.
Lewis p. 106





970/3

2.
Q.   
What is the wave like contraction that moves food down the 
esophagus and intestines called?


A.   
Peristalsis


S.   
DET
p. 209





430/2


3.
Q.
What is the correct term for a toe fender or leather covering 


over the front of Western stirrups?  It is used to protect the 


rider’s legs from brush. It also is used as a decorative covering 


in parades.


A.
Tapadero











S.
DET p. 263




1000/4

4.
Q.
What coat color is the result of a double dilution of the chestnut 

coat color?

A.
Cremello (Cream)


S.
DET p. 72, Evans p. 81




300/3


5.
Q.
What is the name of the ligament that runs from poll to withers 


and helps support the horse’s head?

A. Ligamentum nuchae (nuchal ligament)


S.
DET p. 168
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2008 Tie Breaker 3

1.
Q.
The shoulder joint is unusual because it lacks any heavy 
ligaments to help stabilize the joint. What does provide stability 
to the joint?


A.
Muscles of the shoulder


S.
Kainer plate 14




410/3

2.
Q.
What is another term for English stirrups?


A.
Irons












S.
DET 155





1000/3

3.
Q.
What term is used to describe the parts or external structure of 
the horse that lies under the mane?

A.
Crest


S.
Kainer plate 1




400/2

4.
Q.   
Your mare has foaled and just passed the placenta. In 



examining the placenta what is one thing you are looking for?


A.   
A complete placenta with no rips or tears that might indicate 
any portion of the placenta was retained.



No evidence of infection


S.  
HIH 940-4, Kainer plate 73

510/4
5.
Q.   
The digital cushion fills the area between the frog and what 


tendon?


A.   
The deep digital flexor tendon


S.   
Kainer plate 27
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2008 Tie Breaker 4
1.
Q.   
Most gaits are symmetrical, meaning that the limb coordination 
patterns on one side are repeated on the other side half a stride 
later. 
However, there are two “asymmetrical” gaits. What are 
they?


A.   
Canter/lope and gallop


S.   
Evans p. 172




640/3

2.
Q.
In what region of the vertebral column is the Arabian noted to 
have one less vertebra than other breeds of horses?


A.
Lumbar


S.
Kainer plate 7




410/2

3.
Q    
In feeding management, what is the wicking 
effect?


A.
Uptake of ground moisture into a bale of hay.


S.
YLM 710-5





700/3

4.
Q.
When your horse is carrying a pack load down a steep grade, 


what piece of rigging other than the cinch needs to be adjusted 


and pulled tighter?


A.
Breeching










S.
YLM 118-1L




1020/3

5.
Q.   
Exercise performance can be affected by upper airway 



obstruction. Laryngeal hemiplegia or roaring occurs when the 


larynx does not fully open on inhalation. What structure is 


damaged to create this condition?


A.
Nerve to the larynx 



S. 
HIH 810-3
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2008 Tie Breaker 5
1.
Q.
What structure is only present in equids and is a diverticulum


(out pouching) of the auditory tube?


A.
Guttural pouch


S.
Kainer plate 46



450/3

2.
Q.
What was the original name for the American Saddlebred 


horse?


A.
The Kentucky Saddler


S.
Evans p. 39




200/4

3.
Q.
What is the common name for the skin lesions caused by



the Habronema parasite?


A.
Summer sores


S.
Lewis p. 158



835/3

4.
Q.
In show jumping, a round that is completed by the rider without



jumping or time faults, would be described as what type of 


round?


A.
Clean round


S.
DET p. 58




1075/3

5.
Q.
How does the sympathetic nervous system affect the heart?

A.
Increases the heart rate


S.
Kainer plate 80
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